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p1ot(ntyped(mapc, "mar ), ylab="No. typed individuals", -
+ main="
> plot(ntyped(mapc, "mar"), ylab="No. typed individuals"”,
+ + main="No. genotypes by marker")
Error: unexpected '=' 1in:
"plot(ntyped(mapc, "mar"), ylab="No. typed individuals”,
+ main="
> plot(ntyped(mapc, "mar"), ylab="No. typed individuals”, main="No. genotypes by
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> mapc <- subset(mapc, ind=(ntyped(mapthis)>5))

Error in ntyped(mapthis) : object 'mapthis’ not found
mapc <- subset(mapc, ind=(ntyped(mapc)>5))

> nt.bymar <- ntyped(mapc, "mar™)

> View(mapc)

> todrop <- names(nt.bymar[nt.bymar < 200])
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mapc <- drop.markers(mapc, todrop)

rror in drop.markers(mapc, todrop) :

You're attempting to drop *all* of the markers, which isn't allowed.
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todrop chr [1:4676] "3_6551533"
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